

$$\begin{array}{r} \#1 \quad x + y = 10 \\ (a) \quad \oplus 2x - y = 5 \\ \hline \rightarrow \frac{3x}{3} = \frac{15}{3} \\ \boxed{x = 5} \end{array}$$

$$\begin{array}{r} 1b) \quad 2x + 3y = 12 \\ \oplus -2x - 5y = -8 \\ \hline \quad -2y = 4 \\ \quad \quad \quad \frac{-2}{-2} \quad \frac{-2}{-2} \\ \quad \quad \quad \boxed{y = -2} \end{array}$$

$$\#2(a) \quad -x + 13y = -22$$

$$\ominus \quad -x - 15y = 6$$

$$\frac{28y}{28} = \frac{-28}{28}$$

$$y = -1$$

$$(b) \quad -5x - 7y = 27$$

$$\ominus \quad 2x - 7y = 20$$

$$\frac{-7x}{-7} = \frac{7}{-7}$$

$$x = -1$$

#3

$$\begin{array}{r} 3x + y = 19 \quad \text{--- ①} \\ \text{①} + \text{②} \quad \text{④} + 4x - y = 2 \quad \text{--- ②} \\ \hline 7x = 21 \\ \frac{7x}{7} = \frac{21}{7} \\ \boxed{x = 3} \end{array}$$

Sub $x=3$ into ①

$$\begin{array}{r} 3x + y = 19 \\ 3(3) + y = 19 \\ 9 + y = 19 \\ -9 \quad -9 \\ \hline \boxed{y = 10} \end{array}$$

The solution is $(3, 10)$.

#4 $x + 2y = 9$ ① Sub $x=1$ into ①
 $\oplus 4x - 2y = -4$ ② $x + 2y = 9 \Rightarrow$

$$\begin{array}{r} 5x = 5 \\ \hline x = 1 \end{array}$$

$(1) + 2y = 9 \checkmark$
 $1 + 2y = 9 \checkmark$

$$\begin{array}{r} -1 \quad -1 \\ \hline 2y = 8 \\ \hline y = 4 \end{array}$$

$1 + 2(4) = ? 9 \checkmark$
 $4(1) - 2(4) = ? -4 \checkmark$

The solution is $(1, 4)$

#7 $3x - 4y = 14$ — ①

① - ② $\ominus 3x + 7y = -8$ — ②

$$\frac{-11y = 22}{-11 \quad -11}$$

$$y = -2$$

Sub. $y = -2$ into ②

$$3x + 7y = -8$$

$$3x + 7(-2) = -8$$

$$3x - 14 = -8$$

$$\quad +14 \quad +14$$

$$\frac{3x}{3} = \frac{6}{3}$$

$$x = 2$$

$3(2) - 4(-2) = ? 14 \checkmark$
 $3(2) + 7(-2) = ? -8 \checkmark$

solution is $(2, -2)$.



$$\begin{array}{r} \#8 \quad 7x + 2y = 24 \\ - \quad 8x + 2y = 30 \\ \hline -1x = -6 \\ \hline -1 \quad -1 \\ \hline x = 6 \end{array}$$

The solution is $(6, -9)$

$$\begin{array}{r} 7x + 2y = 24 \\ 7(6) + 2y = 24 \\ 42 + 2y = 24 \\ -42 \quad -42 \\ \hline 2y = -18 \\ \hline 2 \\ \hline y = -9 \end{array}$$

$$\#10 \quad 5x + y = 9 \quad \text{---} \textcircled{1}$$

$$10x - 7y = -18 \quad \text{---} \textcircled{2}$$

$$\textcircled{1} \times 2 \quad 2(5x + y) = 2(9)$$

$$10x + 2y = 18 \quad \text{---} \textcircled{3}$$

$\textcircled{3}$ Sub $y = 4$
into $\textcircled{1}$

$$\textcircled{2} - \textcircled{3} \quad \begin{array}{r} 10x - 7y = -18 \\ - (10x + 2y = 18) \\ \hline -9y = -36 \\ \hline -9 \quad -9 \\ \hline y = 4 \end{array}$$

$$\begin{array}{r} 5x + y = 9 \\ 5x + (4) = 9 \\ \hline 5x + 4 = 9 \\ -4 \quad -4 \\ \hline 5x = 5 \\ \hline 5 \quad 5 \\ \hline x = 1 \end{array}$$

The solution is $(1, 4)$.